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Question 1 (4 marks) 
 
a. 
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Question 2 (4 marks) 
 
a. 
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Question 3 (4 marks) 
 
a. 
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Question 4 (5 marks) 
 
a. 

  

 
b. 

 
1 mark – Shape    1 mark – Intercepts   1 mark – Max/min 
coordinates 
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Question 5 (7 marks) 
 
a. 
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b. 

 
1 mark – Shape   1 mark – Intercepts   1 mark – Asymptotes 
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[ ]
( ) ( )

7

5
7

5

21
3

2log ( 3)

7 2log (4) 5 2log (2)

7 2log (4) 5 2log (2)
2 log (16) log (4)
2 log (4)

e

e e

e e

e e

e

dx
x

x x

-
-

= - -

= - - -é ùë û
= - - +

= - +

= -

ò

M1 

A1 



 
Question 6 (3 marks) 
 
a. 
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Question 7 (3 marks) 
 

Equation 1 
2𝑦 = (𝑚 + 1)𝑥 − 𝑘 − 1 
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Equation 2 
4𝑦 = 2 − 𝑘 +𝑚𝑥 
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 Equate the gradients of the two straight lines. 
 

 
!"#
$
	= $%&

'
+ !

'
	  

 4𝑚 + 4 = 2𝑚 
2𝑚 = −4 
𝑚 = −2 

 
 Equate the y-intercept of the two straight lines. 
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 4(−𝑘 − 1) = 2(2 − 𝑘) 
 −4𝑘 − 4 = 4 − 2𝑘 
 −2𝑘 = 8 
 𝑘 = −4 
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Question 8 (5 marks) 
 
a. 
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Question 9 (5 marks) 
 

 
a. 

  

 Using division of polynomials 
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         END OF SOLUTIONS BOOK 
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